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TABLE I1 (cont.1 

a) A I = 0 ,  1, No (Allowed) 
1 2 3 4 5 

34 Sem 83 

35 Br 75 

35 &. 77 

35 Br 83 

35 &. 85 

36 Kr 77 

40 Z P  s9 

42 Mo 91 

45 Rh 105 

423 Cd 107 

50 Sn 121 

52 Te 127 

55 cs 127 

60 Nd l41 

35 B r  87 

36 Kr 87 

37 Rb 89 

46 Pd lll 

47 Ag 1ll 

47 Ag 113 

47 Ag ll5 

48 Cd l s 5  

48 Cd 117 

+ 1.6 

+ 0536 

- l e05  

205 

+ l o 7  

+ 1.07 

+ 307 

0 0057 

+ 0*32 

3 5-41 

35-43 

3 5-47 

3 5-49 

41-3 5 

49-39 

49-41 

45-59 

59-47 

p3/2'p 1/2 

p3/2 '-p 1/2 

p3/2T 1/2 

p3/2Tl/2 

'1/2*3/2 

p1/2'p1/2 - 
g9/2-g9/2 

g9/2'g7/2 

g7/2'G7/2 

-0.38 71-51 d3/2-d5/2 - 
- Oe76 75-53 

+ 1*2 55-73 d5/2^d-3/;! 

+ 0,7 81-59 d3/24& 

b) A I = O ,  1, Yes (first forbidden) 

- 8,O 

- 3.2 

- 3.8 

- 3*5 

- 1.0 

- 2.2 

- 3.0 

- 1013 
- 1.5 

3 5-51 

51-37 

37-51 

65-47 

4743 

-47-65 

47-67 

67-49 

69-49 

5.2+ 

5.6 

5.0 

543 

5.1 

5.4 + 
5*8 + 

5.8 + 

5.5 

4e9 

5.0 

5 46 

be7 + 
5 e 2  

7e3 

7.0 

6.6 

6,8 

7 .2 

7.0 

6 e 4  

658 4- 

6 S 




